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1. :� ��4�!����; �4�<"� �)�)���� =��8 �4�	
��)�������� ���3���>� 3�?�	@� 3�A�)�	��	$�
	
��)�%�	��'���B

1) X – ���������

2) γ – ���������

3) β  – ���������

4) α  – ���������

2. ����		�� ���<"� C�D��� ��	��	'� �E�� �4�	
C�F� �G	�����8�H

1) ������ �!	���"#�
$%

2) &'�(������
)�*+��,+�
-�%+�

3) -��)��+�
)�*+��,+�
-�%+�

4) ���.�����
-�%+�

3. r = 36,000 =�(	�, Ve = 11.2 =�(	��I ����	��	'

T = 24  ��F�����; �4�	������JKL��	��;��	�H

1) ��	�/0

2) &'�(12��
3�����.�	�4

3) 	�
 �	�
3�����.�	�4

4) -��)�������+�	�4

4. ��4�!����; �4�<"� �)�)���� ����	'� 5��� 3�?�	@
��=��./��������*?���������	$�3�*�J���B
1) ��5
2) �����
3) ��6�
4) 7��8�����9

1. Which of the following rays will

cause more damage to human body ?

1) X – rays

2) γ – rays

3) β  – rays

4) α  – rays

2. The waxing and waning of sea is

due to :

1) Gravitational force

2) Rotation of the earth

3) Rotation of the moon

4) Planetary motion

3. r = 36,000 km, Ve = 11.2 km/sec and

T = 24 hrs.  These are related to :

1) Rocket

2) Geo Stationary Satellite

3) Artificial Satellites

4) Moon Mission [Chandra Yaan]

4. Which one of the following material

has more refractive index ?

1) Air

2) Water

3) Diamond

4) Clay

  PHYSICS
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5. M�����;� ��G"
N��;� �����JKL��	��;��	
1) :����;+0
���#����	�4
2) <���=�0
���#����	�4
3) 	����>+0
���#����	�4
4) ?�<�@0
���#����	�4

6. ��4� �� ��*����	��� (��	���O��������  �8��
�������P�)�	<"� X ��	��	'� Y ��<"� 3���)�		��
(��	����H

1) 5A ��� ���
 8A 2) 3A ��� ���
 5A
3) 5A ��� ���
 2A 4) 1A ��� ���
 2A

7. 3���	'�����7�� ��[P.C.] �������	����	��	H
1) 36A2
7�(�������"�����
2) 62A3
7�(�������"�����
3) 23A6
7�(�������"�����
4) 32A6
7�(�������"�����

8. 3�*�JL����Q	��H
���� ������������ �4�	

A. 2,000 – 3,500 K i. � ����
.���,

B. 3,500 – 5,000 K ii. 	����B

C. 5,000 – 6,000 K iii. ��CD�����
�������E
F5

D. 10,000 – 60,000 K iv. � ����

1) A = iv B = i C = iii D = ii

2) A = ii B = i C = iv D = iii

3) A = iv B = ii C = i D = iii

4) A = i B = iii C = iv D = ii

5. “Red Shift” is related to :
1) Thamson effect
2) Doppler effect
3) Compton effect
4) Tyndall effect

6. In the given electrical circuit the

current at X and Y is :

1) 5A and 8A 2) 3A and 5A
3) 5A and 2A 4) 1A and 2A

7. 10 par sec [P.C] is equivalent to :

1) 36.2 light year

2) 62.3 light year

3) 23.6 light year

4) 32.6 light year

8. Match the following :

     Temperature      Colour of the Star

A. 2,000 – 3,500 K i. Orange yellow

B. 3,500 – 5,000 K ii. Red

C. 5,000 – 6,000 K iii. Bluish white

D. 10,000 – 60,000 K iv. Yellow

1) A = iv B = i C = iii D = ii

2) A = ii B = i C = iv D = iii

3) A = iv B = ii C = i D = iii

4) A = i B = iii C = iv D = ii
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9. In photoelectric effect the energy

of the photoelectron is :
1) Greater than the energy of the

incident photon
2) Less than the energy of the

incident photon
3) Equal to the energy of the incident

photon
4) Not depending on the energy of

incident photon

10. The power of the concave lens is

0.05 cm–1. At what distance should

the object from the lens be placed

so that it forms an image at

10 cm from the lens ?

1) – 20 cm 2) cm
20
1−

3) – 10 cm 4) – 30 cm

11. The acceleration due to gravity of
the earth is 9.82 m/s2 and the
radius of the earth is 6400 × 103m.
What is the mass of the earth ?
G = 6.67 × 10–11 Nm2/Kg2 :
1) 6.021 × 1024 Kg

2) 16.24 × 1020 Kg

3) 100.02 × 1024 Kg

4) 47.02 × 1024 Kg

12. Bio-gas is an excellent fuel,
because :

1) Burns without smoke

2) Leaves no residue on burning

3) Heating capacity is high

4) All the above

9. ��	��� (��	���� ���R���	��<"� ��	��

�S����1�����,�='�)�		�H

1) �� �+�
�'�G�/�+0
H����� �
.�-�I���� ��)�

2) �� �+�
�'�G�/�+0
H����� �
	�8���J���� ��)�

3) �� �+�
�'�G�/�+0
H�����
�����+����� ��)�

4) �� �+�
�'�G�/�+0
H�������+��K

���%�F1�����B,%=

10. A��	$�����78�������	6��7�0�05���(	�T1�
U�A��	$�����78J����10����(	����*����<"
�� ��V��� ��%��)�	.��������� ����	'����	$
����78J����
#�	����*����<"����.����	�B
1) L
20
���(	�

2) L

20
1
����(	�

3) L
10 ���(	�
4) L30
���(	�

11. ./�*(	�)�	� �	��	��W���� �*���>#�7
9�82�(	��I��2����	��	'�./�*(	�)�	�����
6400�× 103�(	���3� ������./�*(	�)�	
��X�)�	#�	��B
G = 6.67 × 10–11 ��*�(	2�I���2�2

1) 6.021 × 1024 	�AMA
2) 16.24 × 1020 	�AMA
3) 100.02 × 1024 	�AMA
4) 47.02 × 1024 	�AMA

12. Y�Z(��� 5AG��;� [���	�C��>\#��� ���/����
]�������� H
1) .�(��J�%=)�
3������ ��)�
2) �H�������
3������ ��)�
3) �,N	�
H�O
3 �P)�+�
�����:��"
4) ����C+�
Q@�=
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CHEMISTRY �����)�	��,���'1

13. (=��8� ��
	� �� �G� - 14 (14C)� ��
5�/�7�)�		#��� 5760� ��#�7 �4�	�� 200
(	� ������#�	 �� �� ��?��)�	� (sample)
( �̂
�� �*�%�	� 25� (	� ������#�� �G	
�� ���	��*4�	_��� ��#�7
1) 23R040
����"�����
2) 17R280
����"�����
3) 11R520
����"�����
4) 5R760
����"�����

14. :���4����%��3��E�� �4�<"��)�)���;��	�����B
1) Q@�=
 S��(/�(���B�����
 �����

��T� �!��B��E������ ����

2) U@�V
���������
W���)���)����H�
.�(�,��� ����

3) F�/�
���������
�)��� 0
	��� ��,�)�
���&'�� ��������B,%=

4) ������
���������
	�� �	��� ��,�)�
���&'�� ��������B,%=

15. �� Z� �* ��� �)�� (	, � �S �*�3�� �� ^�
� �
S�*�3� �4�	�H
1) Cu, Ni, Cr 2) Fe, Ni, Cr

3) Al, Ni, Cr 4) Mn, Ni, Cr

16. :���4����%���)�)����,���89�)�		�5���)�)�7��'
3 � Z% �* � ����7�� �4 �� � 	 $ � � � )�� � �
����AJK��	��'��� B
1) C

2
H

6
, C

3
H

8
, C

4
H

10

2) C
2
H

6
, C

3
H

6
, C

4
H

10

3) C
2
H

4
, C

3
H

6
, C

4
H

6

4) C
2
H

4
, C

3
H

8
, C

4
H

6

13. The half-life of radio active 14C is 5760

years. In how many years

200 mg sample will reduce to 25 mg ?

1) 23,040 years

2) 17,280 years

3) 11,520 years

4) 5,760 years

14. Which of the following statement

is correct ?

1) All isotopes are radio active

2) Alpha rays are negatively charged

3) Beta rays are not reflected by an

electric field

4) Gamma rays are not reflected by

magnetic field

15. The composition of nicrom alloy is :

1) Cu, Ni, Cr 2) Fe, Ni, Cr

3) Al, Ni, Cr 4) Mn, Ni, Cr

16. Which of the following series
represent only unsaturated hydro
carbons :?

1) C
2
H

6
, C

3
H

8
, C

4
H

10

2) C
2
H

6
, C

3
H

6
, C

4
H

10

3) C
2
H

4
, C

3
H

6
, C

4
H

6

4) C
2
H

4
, C

3
H

8
, C

4
H

6
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17. In the following equation ‘x’ stands

for 2Al + x H2SO4 →  Al2 (SO4)3 + 3H2 :

1) 2 2) 3

3) 1 4) 5

18. The substance which are put into

the blast furnace in the manufacture

of iron

1) Iron ore, CaO, Ca(OH)
2
 and CaSiO

3

2) Iron ore, Coke, Lime Stone and

CaSiO
3

3) Iron ore, Coke, Lime Stone and

Hot air

4) Iron ore, CaO, Lime Stone and Hot

air

19. Match the following :

A. Bleaching Powder i. CaSO4.2 H2O

B. Washing Powder ii. NaHCO3

C. Plaster of Paris iii. Na2CO3

D. Gypsum iv. CaOCl2

v. OH
2
1

.CaSO 24

1) A = iv B = iii C = v D = i
2) A = i B = iii C = v D = iv
3) A = iv B = v C = iii D = i
4) A = iv B = iii C = ii D = v

17. :���4�!��������)�	A�����(	�����8��<"�‘x’���

AG	��; 2Al + x H2SO4 →  Al2 (SO4)3 + 3H2 �H

1) 2 2) 3

3) 1 4) 5

18. � �V D8��� C�� `� �R ��) � 	< "� � � 	G	� �	 �

3���S� �	�������	' �4�	�H

1) 	�FX�)�
�,���R
CaO, Ca(OH)2 ��� ���

CaSiO3

2) 	�FX�)�
�,���R
	�(�	0R
����9)�
	�%�=

��� ���
CaSiO3

3) 	�FX�)�
�,���R
	�(�	0R
����9)�
	�%�=

��� ���
F1��5

4) 	�FX�)�
�,���R
 CaO, ����9)�
	�%�=

��� ���
F1��5

19. 3�*�JL����Q	��H

A. F=�Y��0
�Z<��0 i. CaSO
4
.2 H

2
O

B. ��[��0
�Z<��0 ii. NaHCO3

C. ��=��>�0
U�'0 iii. Na
2
CO

3

�����0

D. M��;���0 iv. CaOCl
2

v. CaSO
4
.
2
1

 H2O

1) A = iv B = iii C = v D = i

2) A = i B = iii C = v D = iv

3) A = iv B = v C = iii D = i

4) A = iv B = iii C = ii D = v
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20. The metals which liberate hydrogen

gas with dilute hydrochloric acid as

well as caustic soda solution are :

1) Na and K

2) Zn and Al

3) Fe and Mn

4) Cu and Ag

21. When a metal is alloyed with
mercury the resulting alloy
[Amalgum] will have :

1) Less electrical conductivity than

pure metal

2) Lower melting point than pure

metal

3) Both 1 and 2 are correct

4) Both 1 and 2 are wrong

22. ‘Proton’ is

1) Nucleus of Deutarium

2) Ionised hydrogen molecule

3) Ionised hydrogen atom

4) An alpha particle

23. The Brownian motion in colloidal
solution is due to :
1) Temperature fluctuation
2) Attraction or repulsion between

charged colloidal particles
3) Bombardment of molecules of

dispersion medium on the colloidal
particle

4) None of the above

20. ��	�7G� 3�Z%�*����*"���� U��	"��*�J �
3� �*� ��L���� ��*�%�������8��*�J �
���7L�� �� �G���������	$� V%�	 �%�
��)�%�	���S�*�3� �4�	� �

1) Na ��� ���
 K
2) Zn ��� ���
 Al

3) Fe ��� ���
 Mn

4) Cu ��� ���
 Ag

21. [���	� S�*�3�����	$� ����������*�J �
����L� (	,��S�*�3�����	$� ���)�)��L�� �
(	,��S�*�3���;� a5��)�S� ���)�b
1) @�(�.��4� �
	�8���
�)��� 0
��.�	� �!

.�(�,��� ����
2) @�(�.��4� �
 	�8���
 	��������
 F�)��

.�(�,��� ����
3) 1
��� ���
2
��.�
�����������
4) 1
��� ���
2
��.�
��������������B,%=

22. M��*�F���N�
��	$��;��	
1) <���/��������+�
F�6	���)��
2) �������	��1)�
6%6+�	�)�
���
3) �������	��1)�
6%6+�	�)�
����������
4) U@�V
	��

23. ��<�G �4�<"���.0�A�)�	���?�G�� ������8�H
1) 3��9 �����C=
��� ����
2) �)������\	�
	�C�%	������
U	���"#�

�:���
�	���"#�
3) 	 �C�%	 ����� ��
 ��� �� �
 � � �� �� ��

����)'�����)�
 ����+�
 +�<����
 8N�4
.�(<�)���

4) ����C+�
�������B)��
�%=
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24. [���	���4���	�)�	� ���c�)�	<"��	���A��74�
 ���cQ	���� ���(��Gd%�	��� 3���*�7��
1) �����:���(�"+0
2) :�*���;+0
3) ��(=	�(���+0
4) �8�+�C+0

25. ��4�!��� �)�)���� =��)�	�)�	��	$� ��	89X��
A�)�	�����	��'��� B

1) )��.�)�
����� �(�%+�
	���<����B)��

2) M�#�"���
��G�.�)�C=
���&'������
-�%+�
3) )��.�)�
3��9 �
�������������B)��
4) ����O)�
.���L&'���
 �(���"8�����B)��

26. 5�%���4���<"� ���'�)�	� ?�G�� �� ��3��)�	
��)�%�	���5� ��,�
1) ����&'�
�+��@����	�
�����H�
2) @�(��������
��] �
����&'�
�+��@����	��

�����H�
3) �̂+�	�
�
�+��@����	��
�����H�
4) H�%�	�
�+��@����	��
�����H�

27. ��	�/�	��	�3�� ��*�! �4�<"� M5��d#��� ��&e�N
C�F� �	��;����>�����8
1) � � �� �(� �) � 
 ��� �) �H �"	 �  �

	�8�������������B)��
2) 6%����
 )'� ���+�
 ����)�H�"	� �

	�8�������������B)��
3) 	�-�	�����
 )'� ���+�
 ����)�H�"	� �

	�8�������������B)��
4) ����
�H�%�������B)��

BIOLOGY

24. An enzyme secreted by an
endocrine gland which is present
in an exocrine gland :
1) Paratharmone

2) Thyroxin

3) Glucogon

4) Adrinalin

25. Which of the following activity is
controlled by Medulla oblongata ?

1) Maintain balance of the body

2) Peristaltic movement in alimentary
canal

3) Controlling body temperature

4) Facial expression

26. The tissue which is helpful for the
movement of ovum in the Fallopian
tube is
1) Columnar Epithelial Tissue
2) Ciliated Columnar Epithelial

Tissue
3) Cuboidal Epithelial Tissue
4) Squamous Epithelial Tissue

27. Blur vision in Diabetic patients is
due to

1) Decrease in the transparency of
lens

2) Decrease in the transparency of

aqueous humar

3) Decrease in the transparency of

vitreous humar

4) Enlargement of pupil
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28. In photosynthesis, the function of

stomata is to let

1) CO
2
 in to the leaf from atmosphere

2) O
2
 in to the leaf from atmosphere

3) Out CO
2
 from the leaf to

atmosphere

4) Out O
2
 from the leaf to

atmosphere

29. The function of Nitrosomonos

bacteria in Nitrogen cycle is to

1) Oxidise ammonium salts into

nitrites

2) Oxidise nitrites into nitrates

3) Oxidise nitrites into ammonium

salts

4) Oxidise nitrates into nitrites

30. Which of the following statement
is correct that is related to phloem
of plants ?

1) Phloem in pinus contains phloem
fibres

2) Phloem in sunflower does not
contain parenchyma

3) Phloem in cycas contains
companion cells

4) Phloem in Maize does not contain
parenchyma

28. ��	�����,�"�#�R�� =��)�	�)�	<"� ���������/� ���
�����		f����)�	7
1) �� ������)�
CO

2
+��K
Q@�����
_��

.�(������� �
����<����B)��
2) �� ������)�
 O

2
+��K
 Q@�����
 _��

.�(������� �
����<����B)��
3) Q@�J��)�
 CO

2
+��K
 �� ������	�4

F<����B)��
4) Q@�J��)�
 O

2
+��K
 �� ������	� 4

F<����B)��

29. ��ZF�*������?������<"�M��ZF�*���*���*����N
.��=����)�)�������)�	7
1) �� �(���� � � �
 %� ��� �� �+ � � K

+�*/��̀ */0�����
3 �4["�����B)��
2) +�*/� � ` */0��� �+ �� K
 +� */� � `�/0�����

3 �4["�����B)��
3) +� */ � � ` */0� �� �+ � � K
 ���(���� � ��

%��������
3 �4["�����B)��
4) +� */ � � `/0� �� �+ �� K
 + � */ � � ` */0� ����

3 �4["�����B)��

30. ����� �4�!���*"��)�	� �������JKL�����4�!��
�)�)����3��E�������B
1) ��*+��0
�����)�
��(=������R
��(=������

+���+��K
_����(�8��� ��)�
2) ��(����"	���
 �����)�
 ��(=������R

������	�*���
�+��K
_����(�8�����B,%=
3) ��*	��0
 �����)�
 ��(=������R
 ������

M���	�(�H�����+��K
_����(�8��� ��)�
4) 7 �(�� �) � 
 � �� � �) � 
 � � G = �� � � �� R

������	�*�����+��K
_����(�8�����B,%=



11

SAT(K-10) ��������

31. Match each item in Column A with

suitable one in Column B :

Column A Column B

A. CO2 i. Regulation of body

temperature

B. Hypothalomus ii. Green House effect

C. Corpus luteum iii. Balancing the body

iv. Secretion of

Dopamin

v. Required to plants

for respiration

vi. Secretion of

progesterone

1) A = v B = iii C = vi

2) A = ii B = i C = iv

3) A = ii B = i C = vi

4) A = v B = ii C = vi

32. A mother who gave birth to a child
in hospital complains that her child
is interchanged with other child. The
technique used to find her child is

1) Germplasm Hybridisation
Technology

2) Finger print technology

3) Recombinant DNA technology

4) Genetic engineering

31. ��G�� A ��<"��	��� 5�,� �4���	$� ��G�
B� ��<"��	��� 5�,� �4�*�J �� 3�*�JL
���Q	��H

�����G��A ������G��B

A. CO2 i. )��.�)�
3��9 �
����� �(�%+�

B. Hypothalomus ii. .�1������+�
���#����

C. Corpus luteum iii. )��.�)�
����� �(�%+�
	���<����B)��

iv. <�(����+0
����	�

v. ���������
31��T	�4
���H��	�

vi. ��G�7�1>��+0+�
����	�

1) A = v B = iii C = vi

2) A = ii B = i C = iv

3) A = ii B = i C = vi

4) A = v B = ii C = vi

32. U��d����)�	<"���	 �	( �����O�A�g��	���[�D
��Q	�����$���	 �	���������	 �	(��*�J �
5��G	�T����G	�U!���
���	���*��	�'��h4��
:� ��Q	�) �	� A������ ��	 �	��� �	 $
���%�	ig�)�	G	��4���	���������� H
1) M���)�����
���	����
 �� ��7�a+�
�����	��#�
2) &�����-��I
 �� ��7�a+�
3) ��B+��0
������(�M �
DNA  �� ��7�a+�
4)  �5
 �� ��7�a+�
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33. In water purification plants, water

is made to come out in the form of

fountain. This helps in

A. Bacterial decomposition of

organic compounds

B. Killing the microbes of water

C. Removal of odour of water

D. Removal of nitrates and

phosphates of water

1) A and B 2) A and C

3) B and D 4) B and C

34. Which of the following is not an

intention of producing plants using

a portion of a plant tissue or cells

in a suitable nutrient medium based

on the principle ‘plant cells have

the capacity to produce plants of

their own kind’ ?

1) To obtain disease resistant and

high yielding variety of plants

2) To reduce the period of life span

of plants

3) To develop large number of plants

in a limited space and time

4) To obtain plants which produce

more fertile seeds

33. A����� ,�	J`�����8� ^�
�� �4�<"� A�����	$
�����2�����+��		O��������)�%�S� �	��'���
������5��	��*G

A. ����������
����������+��K
&���>���������5�)�

� �̂?�����B)��

B. ���+�C=�����
��(	��̀ b��
M������+��K

	�(%�=��B)��

C. ���+�
 ����+ ��� ��+ �� K
 �����#�

����<����B)��

D. ���+�C=�����
 +�*/���/0�����
 ��� ���

����V�/0����+��K
�����#�
����<����B)��

1) A ��� ��� B 2) A ��� ��� C

3) B ��� ��� D 4) B ��� ��� C

34. :���4�!����)�)���;��	�MN��������2�����*�,� �E �
����	O���3�	��������� �4���	$�C��d�'���)�%�	��
,�='Q	��NN�
�������W���U�/��������	�S����*��'
��j�#�R����)��/����	��<"���������5� ��,���

+��>./� ��56����2�����*�,� �E��������� �4���	$
C��d�'���)�%�	��;�����C���,���G"�B

1) U��(������� �
��� ���
.�-��I
c������

��<����
���������+��K
��<��������B)��

2) �+��	�
���������
M���+�-�	��)�
���,N����+��K

	�8���
����<����B)��

3) 	�8���
���������)�C=
	�8���
���,N����C=

.�YI+�
���������+��K
��
,d��(5�����B)��

4) .�-�� I
 �' �%�� � � �����
 F�6����+��K

.�(�,�����
���������+��K
��<��������B)��
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35. Which of the following diagram

shows adaptation of eye to see

nearest object ?

Light ray from the object

1)

2)

3)

4)

35. 3�� '� �� �� � �� � 	 ' �4 �� � 	 $� � �*�%�	�� �
��89k��S�" �	��� 3�*���89���)�	��	$� ��4�!��
�)�)����+������*����	��'���B

Light ray from the object

1)

2)

3)

4)
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36. Jammu and Kashmir acceded to
the Indian Union on :

1) 26th October 1947

2) 26th January 1948

3) 26th January 1947

4) 26th October 1948

37. After the Second World War, the
I.N.A. Soldiers were arrested and
tried by :
1) Japanese 2) English
3) League of Nations 4) U.N.O.

38. Match List I with List II by using
the code given below :

List –  I List – II

A. Dyarchy was abolished 1. 1953
in the provinces

B. State reorganization 2. 1955
Commission

C. Macaulay’s  minutes 3. 1961
D. Liberation of Goa 4. 1935

5. 1835
  Code :

1) A – 5 B – 3 C – 2 D – 1
2) A – 4 B – 1 C – 3 D – 2
3) A – 4 B – 1 C – 5 D – 3

4) A – 1 B – 2 C – 4 D – 5

39. After the dissolution of U.S.S.R, the
Commonwealth of Independent
States came into existence in :

1) 1990 2) 1991

3) 1994 4) 1995

36. ./��������[��*>
��>����		O���	��	'� ��XO���
�����7%��)�)�����	h� H

1) 26
�	�(>�$�0
1947

2) 26
6+����
1948

3) 26
6+����
1947

4) 26
�	�(>�$�0
1948

37. 
��%�������	3��)�		��̀�����������l�
���
�
��ZA������	$���JKL�(?���R� ��[4���gL��	h
1) 6����������� 2) c��=������
3) ����>e����
��� �̂ 4) �H�!�����2

38. ��*?����)�	��	$� C���)�*�!L� ����� 1
��<"��	��� (#��)�	 �4���	$� ����� 2� ��<"
��*����	������( �4��Y�*���3�*�JL�H
�����– 1 �����– 2

A. ,!����O
��	�"����+��K 1. 1953
���� ������C=
��)��f��(51)��f

B. ��6�����
���B+��"���<�#� 2. 1955
U���(���

C. ���	�@�
\�'����0 3. 1961
D. ��(���
���(�-�+� 4. 1935

5. 1835
����*?����H

1) A – 5 B – 3 C – 2 D – 1
2) A – 4 B – 1 C – 3 D – 2
3) A – 4 B – 1 C – 5 D – 3
4) A – 1 B – 2 C – 4 D – 5

39. ��*�(�)�	��� [��*>
��� ��������� �������
��W����������� �4��[��*>
�aL�%��*"m��l�
���b
5L'��W��>�������	h� H
1) 1990 2) 1991

3) 1994 4) 1995

HISTORY ��3���
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40. Diwani was granted to the British

in Bengal in :

1) 1757 2) 1761

3) 1765 4) 1774

41. Consider the following statements
as true or false by choosing the
code given below :

1) Sir Thomas Roe, the British
ambassador secured trading
licence from Jehangir, The
Mughal ruler.

2) The British secured the marshy
island of Mumbai from the
Portuguese.

3) The Treaty of Mangalore was
between Haidar Ali and the British.

4) Queen Victoria’s is proclamation
has been described as ‘Magna
Carta’ of the Indian people.

        Code :

1) 1, 2 and 4 – True

2) 2 and 3 – False
3) 1, 2 and 3 – False

4) 2 and 3 – True

42. Who among the Socio-Religious
reformers of Renaissance India was
influenced by the thinker Thomas
Paine ?

1) Iswara Chandra Vidya Sagar

2) Jyothiba Phule

3) Pandita Ramabai

4) Kesavchandrasen

40. �� �4���<"� V��#�� �� MJ��AN� 
��
./�*������)�	� ����*<� ��)�%�	��� 3���	>
��*��=>��	h� H
1) 1757 2) 1761
3) 1765 4) 1774

41. ��4� ����*����	���3��E�� �4���	$���*?����)�	��	$
C���)�*�!L��)�)���;��	�����;d�56�������

���	�A�/�7�����)�g�H
1) ��(��%��
)�(�������)�
6.�����0��)�

���0
 :�����0
 ��(�
 Q�$
 F�?�0
���� ��&'��
 �������
 ����<�%�
�+����������+��K
��<�)�+��A

2) 7Z���
 ,!�����)�
 �����&�*����+��K
F�?�����
���G�-��"���0��)�
��<�)����A

3) g��������(���h
_��P�)�
F�?�0
.���(
.�*)��0UC
+�<����
UJ� ��A

4) ���i
 �	 �( >���� � ��
 ^�(�� �# �
&'������������
g�������K
	�/�"h)�� �
Q�)��
.����@��)�A

�������*?����H
1) 1R
2
��� ���
4
L
���
2) 2
��� ���
3
L
 ���BP
3) 1R
2
��� ���
3
L
 ���BP
4) 2
��� ���
3
L
���

42. ./������)�	� Y�n��� ��;����	2o������ 56���
����j����)�	� ��G��� ����)�2��� 3� �*
�/�(	7�����	�/�������<"�+����������6���	��
��������(?��� �E�������./�(����!��h����	
�)�)���	�B
1) jH�!��-��)��
�)��������
2) 7�(���&�
�'�B@�
3) ���8 �
������&�J�
4) 	��H���
-��)�����+0
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43. The ‘Marshall Plan’ for the
reconstruction of Nations
destroyed during the Second World
War was proposed by :

1) Theodore Roosevelt

2) Franklin De Roosevelt

3) Truman

4) Woodro Wilson

44. The private army of Benedito

Mussolini was called as :

1) Red Shirts

2) Black Shirts

3) Brown Shirts

4) None of the above

45. Match List I with List II by using

the code given below :

List I List II

A. Bedas 1. Surpur

B. Bhaskar Rao 2. Mundaragi

C. Bheema Rao 3. Halagali

D. Venkatappa Naik 4. Kittur

5. Nargund

Code :

1) A – 2 B – 1 C – 4 D – 5

2) A – 4 B – 5 C – 2 D – 3

3) A – 3 B – 5 C – 2 D – 1

4) A – 1 B – 2 C – 3 D – 4

43. 
��%��� ��� ��	3��)�		��`��<"� ��*����� �
[4� ���� ���, � �4 �� �� ;� �� �	��P� ��� >!
M��)�#�7S�N��)�*�����)�	��	$���*pL������	H

1) k���(�<��0
��(�0��%>

2) �'���	0C+0
8
��(�0��%>
3) T(����+0
4) ��B<�(���%;+0

44. .���gF�*���		��*q<A�)�	�-���!�������)�	
3�����	H

1) 	������
)���

2) 	���P��
)���
3) 	��)���
)���
l&Z�+0��/0;"m
4) ����C+�)��
�������B)��
�%=

45. ��*?����)�	��	$�C���)�*�!L�������1���<"
���	��� 3�����	 �4���	$� ����� 2� ��<"��	��
������,� �4��Y�*���3�*�JL�H

��������1 ���������2

A. &��<���� 1. �������B��

B. &'���4�0���0 2. �����<����

C. FN�������0 3. .�%��C

D. ���	�T��P+�����	� 4. � �(����

5. +�������)�
��*?����H
1) A – 2 B – 1 C – 4 D – 5

2) A – 4 B – 5 C – 2 D – 3

3) A – 3 B – 5 C – 2 D – 1

4) A – 1 B – 2 C – 3 D – 4
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46. Which one of the following is the

correct sequence of the tributaries

of Ganga from East to West ?

A. Ghaghra B. Kosi

C. Gandak D. Gomati

1) B, C, D, A 2) B, C, A, D

3) C, B, D, A 4) D, B, C, A

47. Which part of India does not
receive rainfall during Rainy
Season ?
1) Thar Desert
2) Northern Plain
3) Tamil Nadu
4) Punjab

48. Some statements are given below :

A. Heavy rainfall, high temperature
and high humidity are
responsible for growth of dense
forests

B. Babul, Kasavi and Kikar trees
are important in tropical thorn
forests

C. Teak, Sal and Sandal wood are
the important trees in tropical
evergreen vegetation

D. Silver fir, Oak, Spruce, Chestnut,
Pine are trees in coniferous
vegetation

Which of the above statements are
true ?

1) A, B and D 2) A, C and D

3) B, C and D 4) A, B and C

GEOGRAPHY ./�* �*�4�

46. :����4����%���; �4�<"��)�)���;��	� �� ����J�)�	
C����J �4���	$���j��7J������X@��	�����%� �
A��*p��	�������)�)���������	��!���B
A. ^� �̂� B. 	�(�1
C. ���<�	0 D. ��(�����
1) B, C, D, A 2) B, C, A, D

3) C, B, D, A 4) D, B, C, A

47. ./�������� �)�)���� ./� ���;� ��	4� �G��<"
��	4��)�	��	$� ��%��)�		��;JG"� B
1) :��0
������&'�(��
2) 3 ����)�
���*)�+�
3)  ������+�<��
4) ���7�&0

48. :���4� ����G��;�3��E�� �4���	$���*�����H
A. �,N	�
�����R
�,N	�
3��9�H�
��� ���

�,N	�
 U)��" ������
 )�T>
 ���������
&������i����
	�������)�

B. $$(@0R
	����
��� ���
�	��0
����������
3��9��%����)�
	�����-�%�
���������")�
�)'��������

C.  ����R
.�(+�K
��� ���
\�����)'�
c��B
� ��.��)�!�"
���������
������������

D. 1%!�0�'��0R
n	0R
��(Pe�0R
-��0>+�/0R
��*+0�����
 ��(Y���"
 ���������")�
������������

����%4�<�
.��5	�����C=
��������)���B�����)���
1) A, B ��� ��� D 2) A, C ��� ��� D
3) B, C ��� ���
D 4) A, B ��� ��� C
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49. Column – A is the list of Hydro
Electric Power Projects and
Column – B is the list of states
where located.

Column – A Column – B

A. Sileru i. Gujarath

B. Dhuvaran ii. Karnataka

C. Shabarigiri iii. Andhra Pradesh

D. Chakra iv. Kerala

Which one of the following correctly
matched set ?

1) A – ii B – iii C – i D – iv

2) A – iii B – i C – iv D – ii

3) A – iv B – i C – ii D – iii

4) A – i B – ii C – iii D – iv

50. Which one of the following Iron and

Steel Plant was established during

Third Five Year Plan ?

1) Bhilai

2) Bokaro

3) Rurkela

4) Durgapur

51. Jharia, Bokaro, Giridh and Karanpur

are important coal fields of which

one of the following States ?

1) Jharkhand

2) Bihar

3) Odisha

4) Chattisgharh

49. ���� – A �)�	<"� �G(��	�?�r='� C��d����
�)�*���� �4�	� ��	��	'� ���� – B �)�	<"� 5��;
��P���� �*�g��	������� �4���	$�A�%�S�!���

���� – A ���� – B

A. 1@����� i. ���6�� 0

B. )'������+0 ii. 	�+�"T	�

C. H�$��� iii. U�)'�����)��H�

D. -�	�� iv. 	������

	���	��<���B����C=
���������
7�(�81�����
������B
�������B)��
o
1) A – ii B – iii C – i D – iv

2) A – iii B – i C – iv D – ii

3) A – iv B – i C – ii D – iii

4) A – i B – ii C – iii D – iv

50. :���4����%�� �)�)���� ��VD8���	��	'�C=>��
�� P� �� �� � ;� � �	*��� ��� ���?���e7��
�)�*������JK�)�	<"���P�����)�)�Q	��	�B
1) FN@�����0
2) &�(	���(�
3) ��(��4@�
4) )����"��B��

51. ��s)���)�)��� .�*����*��� !��/�t� ��	��	'
� �� �R��� ;� � �4 � 	� � � �� � 		f� � �< "� � hG	
�� ���� � �4�!��	 h�� :� ��4�� ��%�� �)�)���
������<"���B
1) 7�O"�<0
2) F.���
3) _8H�
4) D����0 �̂�0
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52. Which one of the following is the
correct set of natural gas producing
sites ?
1) Bombay High, Digboi, Godavari

basin, Ankaleshwar

2) Ankaleshwar, Bombay High,
Digboi, Godavari basin

3) Bombay High, Ankaleshwar,
Godavari basin, Cauvery basin

4) Bombay High, Godavari basin,
Digboi, Ankaleshwar

53. Identify the correct group of fresh
water lakes in India
1) Dal, Nal, Kolleru, Wular
2) Chilka, Dal, Sambhar, Pulicat
3) Dal, Chilka, Nal, Kolleru
4) Kolleru, Pulicat, Wular, Nal

54. Which one of the following is
correctly matched of Column – I
and Column – II ?
Use the code given below :
Column – I      Column – II

A. Kolkatta i. Biggest Port
of India

B. Nhava Sheva ii. Oldest Port of
India

C. Mumbai iii. Terminal Port
of India

D. Chennai iv. Jawaha r l a l
Nehru Port

       Code :
1) A – iii B – i C – iv D – ii
2) A – iv B – iii C – ii D – i
3) A – iii B – iv C – i D – ii

4) A – i B – ii C – iii D – iv

52. :���4����%���; �4�<"���W./�(���5AG����	$
C��dJ��	�'��	��� ������ � �4�� ����)�)���
�����)�89����)�)���;��	�B
1) &��&�
 .�*R
 ,��X����0R
 ��(�)����

����O6R
��	�@��H�!��
2) ��	�@��H�!��R
 &��&�
 .�*R
 ,��X����0R

��(�)����
����O6
3) &��&�
.�*R
��	�@��H�!��R
��(�)����

����O6R
	�����
����O6
4) &��&�
 .�*R
 ��(�)����
 ����O6R

,��X����0R
��	�@��H�!��

53. ./�������<"� Li� A����� ����*����� �4�
����)�)���� �	�����	$� �	��	�L
1) )�@0R
+�@0R
	�(@�=����R
��B@�=�0
2) Y@�4R
)�@0R
���&'��0R
��BC	�/0
3) )�@0R
Y@�4R
+�@0R
	�(@�=����
4) 	�(@�=����R
��BC	�/0R
��B@�=�0R
+�@0

54. ��4�!������� – I ��	��	'����� – II ��<"�������)�)�!
3�*�J���)�)�!��	��;��	��)�)���;��	�B
��(Y����+��K
3�����(��1
p
������� – I �������� – II

A. 	�(�%4 �� i. & ' �� � �) � 
 ��
)�(<�q
$�)����

B. +�r��H�r��� ii. &'��� �)�
 ���Y�+�
$�)����

C. �����&�* iii. &'��� �)�
T��"+�@0
$�)����

D. -�+�K`* iv. 6��. �� �@�@ 0
+�.����
$�)����

��*?����H
1) A – iii B – i C – iv D – ii

2) A – iv B – iii C – ii D – i

3) A – iii B – iv C – i D – ii

4) A – i B – ii C – iii D – iv
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55. India’s highest television tower is

located at :

1) Arvi 2) Doon

3) Pune 4) Pitampura

56. The strong reason for the

backwardness of Indian Agriculture

is :

1) Fragmentation of land holdings

2) Land ownership problem

3) Lack of irrigation

4) Rural indebtedness

57. The farmers carry their produce to

the cities and problems faced by

them are :

A. High trade commission

B. Advance to farmers from the

money lenders

C. Cheating in weights and

measures

D. Not immediate settling amount

after the sale

Which of the above statements are

true ?

1) A, B and D 2) A, C and D

3) B, C and D 4) A, B and C

55. ./�������� 5�� 
��'������� ��*����,�7��

 �*���;����;���S� �*�g��	��;��	��<"�H

1) U��" 2) <�(+0

3) ��G+� 4) s ����B��

56. ./����������&e�����������i���	EJ��	(�� ��5�

����G���������8��������H

1)  ���<��
&'�(
]<����5�����

2) &'�(
_<� �+�)�
��������

3) �������
	�(�� �

4) �������
W��&'��� �!

57. ��Z����	�����	O���&e�C��d��$ �4���	$��� ��� �E �

� �*�%�*�) �		 ��� '� �� � �	� �	 '� � 5��� �	

5��	./�(��	��� �����		f�����	��� �4������

A. �,N	�
�������
)�@�=5

B. @����)���)�����)�
��* ����
�������<�

.��

C.  �(	�
��� ���
��� �����C=
��(���

D. ������T
����8)�
  �	���)�C=
 .��)�

��( ����+��K
��<�,����	�

����%4�<�
 .��5	�����C=
 ��������)���B�����

�������B)��
o

1) A, B
��� ���
D 2) A, C
��� ���
D

3) B, C
��� ���
D 4) A, B
��� ���
C

ECONOMICS & CIVICS 56�7,���'1���	��	'��0��,���'1
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58. To facilitate proper storage of
agricultural produce, which one of

the following institution was
started in India in 1965 ?

1) TAPMCS 2) CFTRI

3) FCI 4) IGSC

59. Which one of the following bank

has been directed to provide loans
to cottage and small scale

industries ?

1) IDBI

2) NABARD

3) CO-OPERATIVE BANK

4) KSSIDC

60. Favourable balance trade means :

1) The value of visible exports is less

than the value of visible imports

2) The value of both is equal

3) The value of visible exports and

value of visible imports is different

4) The value of visible exports is

more than the value of visible

imports

61. Which one of the following is a set

of countries having both
democracy and republic ?

1) India and Great Britain

2) India and Japan

3) The U.S.A. and China

4) India and the U.S.A

58. ��&e� C��d��$ �4�� � ����)�)���� ,��f��R�
������� P �!� 1965� � �< "� ./�� �� �� �< "
��P�����)�)���� �����P� :� ��4����%���; �4�<"
�)�)���;��	�B
1) TAPMCS 2) CFTRI

3) FCI 4) IGSC

59. :���4����%���; �4�<"� �)�)����.������ ��8k
��	��	'� � �	g���Z ���� �E ����G�A�%�	��
A���7,�������	$�A�%�	��'���B

1) IDBI

2) NABARD

3) CO-OPERATIVE BANK

4) KSSIDC

60. 5��	��*G���������	LP����������������� H
1) U���)��
����8	�(�<�
)�
H��
����	������

���Z%��4� �
 ���' �B �
 ����8)�
 )�
H��
����	������
���Z%�
	�8���
c�����B)��

2) Q��<���
���Z%������
�����+�������B)��
3) U���)��
����8	�(�<�
)�
H��
����	������

���Z%�
��� ���
���'�B�
����8)�
)�
H��
����	������
���Z%�����C=
��� ����������B)��

4) ���'�B�
����8)�
)�
H��
����	������
���Z%���B
U���)��
����8	�(�<�
)�
H��
���Z%��4� �
�,N	���������B)��

61. :� ��4�!��� �)�)����  �	�p��� ���,� �4�	
���Y����./�	��W� ��	��	'�  �8����� T� 
��%�*
��)���� �4���	$�3�*�J���B
1) &'��� �
��� ���
F�T+0
2) &'��� �
��� ���
6��+0
3) ������	�
��������	��
�����2+������
��� ���

Y�+�
4) &'��� �
 ��� ���
 ������	�
 ��������	��

�����2+������
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62. Which one of the following regions

has been given a ‘Special Status’ ?

Identify it :

1) Bombay, Karnataka

2) Old Mysore province

3) Hyderabad, Karnataka

4) Coorg and Bellary regions

63. Several independent states coming

together to form a nation involves

all the constituent states ______

1) having equal powers

2) having unequal powers

3) are subordinate to the central

government in all matters of

administration

4) are absolutely free in

administration

64. It is feared that a steep rise in

import duty on gold leads to

1) Corruption

2) Black marketing

3) Smuggling

4) Profiteering

62. :���4�!���[���	����������>�M(,��#��������P��N

����	$� ��*%�S�!���� 5��	� uuuuuuuuu

1) �����&�*
	�+�"T	�

2) .����
���*��(���
���� ��

3) .�*)���&�)0
	�+�"T	�

4) 	�(<����
��� ���
$��E�
�&'���

63. 3�G����	���W����������� �4�	�[F��!������

[���	���#��1����	$������� �������������� �4�	

1) �����+�)�
�,N	�����+��K
.�(�,��� ����

2) �����+�)�
�,N	���
.�(�,�����B,%=

3) 	���)��
 ��	�"��	�4
 Q@�=
 U<�5 � �b	�

�����������%(=
�,N�+������� ����

4) ��G�"���
��! �� ����)�
U<�5 � �b	�

�,N	�����+��K
.�(�,��� ����

64. +��$���U��	J�����	�S��5��3�?�	@�U��	��	

��	����3�����	��;�������C�F� �	�������	���

1) &'����>-���

2) 	������ �

3) 	���E
�����i	�

4) @�&'�	�(��� �+�
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65. Examine the following statements

and select the correct option :

A : Some nations of  the world

argued that India should not be

made a permanent member of

the Security Council

B : As the leader of the NAM, India

has played a significant role in

peace keeping activities of the

U.N.O.

1) Both ‘A’ and ‘B’ are true

2) Both ‘A’ and ‘B’ are false

3) ‘A’ is true and ‘B’ is false

4) ‘A’ is false and ‘B’ is true

66. Which one of the following is not a

challenge to political parties in a

democratic set up ?

1) Money and muscle power

2) Decline in ideological differences

among parties

3) Equal opportunities to all the

members in each party

4) Dynastic succession

65. :� � ��4�!��� 3��E�� �4���	$� ���X�<L

����)�)����C��'������	$�U�L�H

A : �H�!)�
	�%��B
����>e�����
&'��� �
&'�)�� �

���������
t������
��)���� �!
��<��������

$��u
���(�)'�
���	����81��A

B : �C���
 ��&'�����
 +�����	�
 ����>e���R

�H� !� ���� 2�� ��
 H���
 	���<����

-�T���?	�����C=
 &'��� ���B
 ���.� �!)�

�� ��
��]1)�A

1) gAh
��� ���
gBh
Q��<�(
�����������

2) gAh
��� ���
gBh
Q��<�(
 ���BP

3) gAh
���
U)���
gBh
 ���BP

4) gAh
 ���BP

��� ���
gBh
���

66. ���Y����./�	��W���)�����)�	���#��1 �4�<"�:���4�!��

�)�)���� 5�,���;� ���=��)�	� ����� �E �

����S�AL���B

1) .��
��� ���
)�*]	�
H�������
���&'���

2) ��6������
 ��	� �����
 ���
  � �!����

��� ������B
	�8��������������B)��

3) �������(�)��
 ��	� �)�C=
 ��)��� ����

�����+�)�
���	�H���+��K
	�(<����B)��

4) _�)��
���H�)������
�,N	���

��]1	�(���E��B)��
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67. Match the agencies of the U.N.O

with their head quarters :

I II

i. F.A.O. a. Geneva

ii. UNICEF b. Paris

iii. I.M.F. c. Rome

iv. I.L.O. d. Washington D.C.

e. Newyork

1) i – b ii – e iii – a iv – c

2) i – c ii – a iii – d iv – e

3) i – e ii – c iii – b iv – a

4) i – c ii – e iii – d iv – a

68. Anna Hazare conducted campaign

against corruption across in the

country.

Which of the following statements are
the features of the above said event ?

A. It was a movement

B. It was a collective action of
commoners who participated
spontaneously in it

C. Its decisions were binding on the
government

D. It meant direct participation of
people in the government

1) A, B and C only

2) A and C only

3) B and D only

4) A and B only

67. (,�W�����P�)�	�(,��#������� �̂
�� �4�	���	��	'
5��; �4�� U%�E��� ��v���� ������� �4���	$
3�*�JL����Q	��H
i. U.���
��� ���
	�
[ a. M+����
�����2

ii. �� �����[>e����� b. �����0
���	�4��
 �� ��"
�,N

iii. �� �����[>e����� c. ��(����0
.��	�1+�
�,N

iv. �� �����[>e����� d. ��[��0T+0
8A1
	���"	�
���^�

e. +�(������	0"
1) i – b ii – e iii – a iv – c
2) i – c ii – a iii – d iv – e
3) i – e ii – c iii – b iv – a
4) i – c ii – e iii – d iv – a

68. ./��������3�G����	���%��5R�k�3�Y����)�	����	
./��#��?���� (��	��`��� U���*�G�� �4���	$
��%�L����	�

j
 	�� ��+�
 �� �����
 ��	� �� �� ��
 j
U�)�(�%+�����
%	�������+��K
�5��� ����
o
A. �)��
_�)��
-������5
B. ������+��
6+����
��!�����
������#�J��)�

U�)�(�%+�����C=
&'�����]1)���
�)��
_�)��
�����(]	�
-������5�����J� ��

C. j
 U�)�(�%+�����C=
  ���)��	�(�<�
�)'�"������+��K
��	�"��
7��
��(5��@��&��	��$
��������" �
c)�

D. j
 U�)�(�%+�)�
 �:�"L��	�"��)�
	�����"����C=
����"6�	����
+�������
&'�����]1)����LQ�)���� ��)�

1) A, B
��� ���
C���� ��
2) A ��� ���
C ���� ��
3) B
��� ���
D ���� ��
4) A ��� ��� B ���� ��
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69. The following is the list of
Commonwealth Nations :

a. Ghana e. Nigeria

b. Newzealand f. Malaysia

c. Australia g. Zimbabwe

d. India h. Canada

Which one of the following sets
represents the nations that have
recognised the Queen of Britain as
their titular head ?

1) a, b and h only

2) c, d and f only

3) b, c and h only

4) b, e and g only

70. Choose the correct sequence to
indicate the following statements
as True (T) or False (F) :

A. The W.T.O has formulated a

policy of free trade among the
member nations.

B. The developing nations are
immensely benefited by free

trade policy.

C. The developed countries are
interested in helping the weaker

countries through this policy.

D. The developing countries are

subjected to economic

exploitation in the name of free
trade policy.

1) T, T, F, F 2) F, F, T, T

3) F, T, T,  T 4) T, F, F, T

69. :���4�!��������)�	<"������	����S�'����������
��#��1 �4�	�����H
a. ^�+� e. +�*M�������
b. +�(�M@���<0 f. ���@��[�����
c. U��>e�C����� g. M�&�&�!
d. &'��� � h. 	�+�<�

:���4�!����)�)���� �	�p�����#��1 �4�	�V�
A$��
��89�) �	� �	$� M��� ���)�JK���N� 
���	
5�!����L���B
1) a, b
��� ���
h ���� ��
2) c, d ��� ���
f ���� ��
3) b, c ��� ���
h ���� ��
4) b, e ��� ��� g 
���� ��

70. :���4�!���3��E�� �4�	������aTb�56���
����;d�aFb�
���5��	�����	�����Y�*�%�R��)�	��	$
U�)�	>���)�g�H
A. �H�!
�������
�����2�����
Q@�=
��)����
����>e��5��
g����	��
�������h
�������+��K
7����(51)�A

B. �FN��
,d
.�(�)���������
����>e�����

j
���J��)�
 $.������>
 @�&'���+��K
��51	�(�8��A

C. j
���J��)�
 �FN��
,d
 .�(�,)�
���� > e�����
 ]�)��5)�
 ���� > e��5��
��.�����
 ����<�%�
 U��������+��K
 j
�������
���(%	�
 �(��1��A

D. �FN��
,d
.�(�)���������
����>e�����
j
�������
���(%	�
Uk"	�
H�(���#���
_����?>��A

1) T, T, F, F 2) F, F, T, T

3) F, T, T, T 4) T, F, F, T
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 �89��
71. ����'� Y�S���&��)�	<"� ���	��� ��G�)�	 �4�

���-���H

1) 6 2) 2
3) 5 4) 7

72. ABCD U�)�	����<"� AP ��	��	'� AQ
���-�f�%� �4���	$� +�����<"� ��*��L�����

4��)�	S�!����3� ������ (AP + AQ) ��
C��h��;�H

1) 180 ���A��� 2) 120 ���A���
3) 150 ���A��� 4) 100 ���A���

73. Tan 7° tan 23°  tan 60°tan 67°tan
83°��)�	�.�S��H

1)
3

2
2)

2
3

3)
3

1
4) 3

74. ���d��'mZ��	���(���������-��Q	��	���[���	
��
�8��<"�wx�yyy������	�%���>���3���S�z
�������)�	��	$�� wy�{yy� �����	� MJ� F�Z��)�q
U�/����g�)�)�N��������)�	��	$���	��	'�|�{yy
�����	� 
��%�*� ������ �4���	$� }��	��'���
3� ������������-���)�	�,����%��
#����#�	�
����
��%�	������� �4���	$�}��	��;JG"�B
1) 15% 2) 14%
3) 16% 4) 10%

MATHEMATICS

71. The number of regions in the given
graph is :

1) 6 2) 2
3) 5 4) 7

72. In the given figure ABCD is a
rectangle in which segments AP
and AQ are drawn as shown. The
length of (AP + AQ) is

1) 180 cm 2) 120 cm
3) 150 cm 4) 100 cm

73. The value of tan 7° tan 23°  tan
60°tan 67°tan 83° is

1)
3

2
2)

2
3

3)
3

1
4) 3

74. A town has total population of
25,000 out of which 13,000 read the
Deccan Herald and 10,500 read The
Times of India and 2,500 read both
papers. The percentage of
population who read neither of
these news papers is :
1) 15% 2) 14%
3) 16% 4) 10%
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75. If the points (a, 0), (0, b) and (1, 1)

are collinear, then =+
b
1

a
1

1) (2 – 2)0 2) 20

3) 21 4) 2–1

76. If x (x – 2) = 1 then the value of

⎟
⎠
⎞

⎜
⎝
⎛ + 2

2

x

1
x  is :

1) 0 2) 2

3) 4 4) 6

77. If α  and β  be the roots of
x2 + 3 ax + 2a2 = 0 and 522 =β+α
then the value of ‘a’ is

1) 2 2) 3

3) 1± 4)
2
1±

78. The condition that the equation
ax2 + bx + c = 0 has both the roots
positive is that
1) a and c have of the same sign

opposite to that of b
2) b and c have the same sign

opposite  to that of a
3) a and b are of the same sign
4) a, b, c are of the same sign

79. If ⎥
⎦

⎤
⎢
⎣

⎡
=

10

01
A  then A4 =

1) ⎥
⎦

⎤
⎢
⎣

⎡
04

04
2) ⎥

⎦

⎤
⎢
⎣

⎡
22

33

3) ⎥
⎦

⎤
⎢
⎣

⎡
43

32
4) ⎥

⎦

⎤
⎢
⎣

⎡
10

01

75. (a, 0), (0, b) ��	��	' (1, 1)  �4�	�����4����-� ���

V���	 �4�!����3� ����� =+
b
1

a
1

1) (2 – 2)0 2) 20

3) 21 4) 2–1

76. x (x – 2) = 1 U���� ⎟
⎠
⎞

⎜
⎝
⎛ + 2

2

x

1
x  ���.�S��H

1) 0 2) 2

3) 4 4) 6

77. α  ��	��	'� β   �4�	 x2 + 3 ax + 2a2 = 0
� �(	�� �� �8� �� � � 	*G �4 � 	� � � 	� � 	 '

522 =β+α  U����� ‘a’ ���.�S�
1) 2 2) 3

3) 1± 4)
2
1±

78. ax2 + bx + c = 0 ��(	�����8��� 
S�"
��	*G �4�	��/�����O����!��.������������	��
A���/���
1) a ��� ��� c �����
_�)��
Y+�r
.�(�,��A

U)���
c��B b +�
Y+�r����
����)�d�����A
2) b ��� ��� c �����
_�)��
Y+�r
.�(�,��A

U)���
c��B
a +�
Y+�r����
����)�d���)�A
3) a
��� ��� b �����
_�)��
Y+�r
.�(�,��A
4) a, b, c �����
_�)��
Y+�r
.�(�,��A

79. ⎥
⎦

⎤
⎢
⎣

⎡
=

10

01
A  U���� A4 =

1) ⎥
⎦

⎤
⎢
⎣

⎡
04

04
2) ⎥

⎦

⎤
⎢
⎣

⎡
22

33

3) ⎥
⎦

⎤
⎢
⎣

⎡
43

32
` 4) ⎥

⎦

⎤
⎢
⎣

⎡
10

01
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80. In figure AB = 4 cm, BC = 5 cm and

CD = 8 cm then the length of AD =

1) 10 cm 2) 12 cm

3) 13 cm 4) 15 cm

81. Every person in a room shakes hands
with every other person. The total
number of hand shakes is 153. The
number of persons in the room is
1) 16 2) 17
3) 18 4) 19

82. A student is required to answer 6 out
of 10 questions which are divided into
two groups each containing 5
questions and he is not permitted to
attempt more than 4 from each group.
The number of ways he can choose
the questions is
1) 200 2) 150
3) 300 4) 100

83. The rationalizing factor of n
b
a

ab

is

1) n
b
a

ab 2) n
b
a

3) n
1n

1n

b

a
−

−

4) n
1n

1n

b

a
+

+

80. +�����<" AB = 4 ����(	�, BC = 5 ����(	�
��	��	'�CD = 8 ����(	��U�����AD �)�	�54���

1) 10 ���A��� 2) 12 ���A���

3) 13 ���A��� 4) 15 ���A���

81. [���	���*~�g�)�	<"��	��������)�*�D������	
����	O�����	O<"�3���'S� �̂�����)�g��*4�	_����	�
[
	�� 3���'S� �̂�� �4�� ���-��� w{x� U����
��*~�g�)�	<"��	������������-��
1) 16 2) 17
3) 18 4) 19

82. 
��%�	� (./� ���<"� {� ���,�$ �E��	��� [
	�
3���	'����,�$ �4�<"�[�D�(���c7�)�		�[���	
(./� ���<"� ��G>=>���� 3�?�	@� ���,�$ �4���	$
�� ���	��*4�_��� [
	�� U��	� ���,�$ �4���	$
C��'����3�	�����[
	��(�/� �4�	
1) 200 2) 150
3) 300 4) 100

83. n
b
a

ab  ���5����89������

1) n
b
a

ab 2) n
b
a

3) n
1n

1n

b

a
−

−

4) n
1n

1n

b

a
+

+
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84. The volume and surface area of a
sphere are numerically the same.
The volume of the smallest cylinder
in which the sphere exactly fits is
1) π54 2) π36
3) π27 4) π9

85. In a triangle the side of length
12 cm is perpendicular to the side
of length 5 cm. The lateral surface
area of the solid got by rotating on
the side 12 cm is
1) 2cm156 π 2) 2cm65 π
3) 2cm60π 4) 2cm35π

86. In an examination Arithmetic mean
and standard deviation of
Pradyumna are 60 and 3.84 and
that of Chintu are 66 and 5.61. Then
the true statement among the
following is
1) Pradyumna is better scorer than

Chintu
2) Pradyumna is more consistent

than Chintu
3) Chintu is more consistent than

Pradyumna
4) Both Pradyumna and Chintu are

equally consistent

87. A club consists of members whose
ages are in A.P. the common
difference being 3 months. If the
youngest members of the club is
just 7 years old and the sum of the
ages of all the members is 250
years, then the number of members
in the club are
1) 15 2) 20
3) 25 4) 30

84.  �*�4�� �� � �	�S� O m Z� (L'�87� ��	� �	 '
�̂���/�G �4�	�����	��!����:� �*�4�����	$

����)�)�!���A#��� ����(��	���L<�%�����<"
�%�.����������5����� ����
1) π54 2) π36
3) π27 4) π9

85. [���	���./�	���<"�w|�����(	��C��h(��	��
.�3�	��;�{�����(	��C��h(��	���.�3�	( �
G����!����w|�����(	��.�3�	(�����	�S�
��./�	�����	$� ���	!L�� �� C�F� �	��
�̂����&��)�	���,�W7���	�S�OmZ�(L'�87

1) π156  ���A���v 2) π65  ���A���v
3) π60  ���A���v 4) π35  ���A���v

86. [���	� ��������)�	<"� �����	���	$��	�  �EL��
����������	��	'���)������(?�G�� �4�	��y���	��	'
x����3� �*�+�
	(����	������	��	'�{��w
U!������4�!����; �4�<"�����)�)����3��E��
1) ���)������K+��
Y�T����� �
.�-��I
��	�

��51�����+��
2) ���)������K+��
Y�T����� �
.�-��I
12�� �

.�(�,�����+��
3) Y�T�+��
���)������K��� �
.�-��I
12�� �

.�(�,�����+��
4) ���)������K
��� ���
Y�T�����
12�� �
_�)��

U�)�

87. [���	���� �̂��<"��	����������������)�	��	q �4�	
����)������� ,���89�)�	<"��	h� 5������� +��>
���������� ���)�	��	q� ]4�	� ��#�7��!���
�����)�*�D� ���������� ��%�	(��� ���)�	Lq��
5��������	*��	��� �4�!����5�����[
	�
���)�	Lq��� ��*��'� |{y� ��#�7 �4�	� U�����
5<"��	������������	 �4�����-��
1) 15 2) 20

3) 25 4) 30
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88. In the figure Δ  PQR ||| Δ  PST and
perimeter of Δ  PQR : perimeter of
Δ  PST = 3 : 4 then area of Δ  PST :
area of Δ  PQR is

1) 3 : 4 2) 16 : 9
3) 9 : 16 4) 4 : 3

89. Twelve defective pens are
accidentally mixed with 132 good
ones. It is not possible to just look
at a pen and tell whether or not it
is defective. One pen is taken out
at random from this lot. The
probability of pen taken out is a
good one is :

1)
12
11

2)
12
1

3)
2
1

4) 1

90. The LCM of (x + y)2, (x – y)2 and

(x2 – y2) is

1) (x2 – y2) 2) (x2 + y2)2

3) (x2 – y2)3 4) (x2 – y2)2

88. +�����<" Δ  PQR ||| Δ  PST,  Δ  PQR
��	��'4��� : Δ  PST ��	��'4��� = 3 : 4 U����
Δ  PST �)�	� (L'�87� : Δ  PQR��
(L'�87��

1) 3 : 4 2) 16 : 9
3) 9 : 16 4) 4 : 3

89. [���	� ��*��� ��	*���� '��%�	� [4�_�)�	
� �� � 	 $ �4 �*�J �� w|� � �*% �=� � 	� �
(defective)� ����	$ �4�	� U��LO� ���!
.�����	��*�g���� �����G� ��*�%�	��;������
5��; �4���	$� ��*%�=���)�	�� �G"���� 
���	
 �	��	���G	� ���/��(G"�� [���	� ����$��	$
�)�)���&+r����!��� ��)�	S�!������ ����:�����	$
[4�_�)�	�����$!��	������./���A��)�	��

1)
12
11

2)
12
1

3)
2
1

4) 1

90. (x + y)2, (x – y)2 ��	��	' (x2 – y2)  �4�

G����5

1) (x2 – y2) 2) (x2 + y2)2

3) (x2 – y2)3 4) (x2 – y2)2



31

SAT(K-10) ��������

SPACE FOR ROUGH WORK
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Note : English version of the instructions is printed on the front cover of this booklet.
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